TRUONG PAI HOC VAN LANG
KHOA KHOA HQC CO BAN

DAP AN DE THI KET THUC HOQC PHAN (BE 1)
MON HQC : HOA PAI CUONG VO CO (K25Y-DU)

Ciu 1 (2,0 diém)

() AT AICT; (0,01M) || AgNOs (0,1M) | Ag ()
Anod : Al —3e —» AP Eava’t = 1,676V
Catod : 2Ag" +2e — 2Ag E%+a, = 0,799V

Pin: Al+3Ag' — AP + 3Ag E' = 2475V
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Céu 2 (2,5 diém)

H>0 (300K,1) = H20 (373K,1)
H20 (373K,1) = H20 (373K.k)
H20 (373K,k) =2 H,0 (400K k)
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Céu 3 (1,5 diém)

x=3 a=7(4s*4p’) b=3 T=5(sp’d)
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Ciu 4 (1,5 diém)

| 2CH;CHO (1) + 03 (k) —**, 2CH:COOH (1)

0,25d

AH=[2(4Ec.u + Ec.c + Ec=0)+Eo-0]-[2(3Ec.u+Ec.c+ Ec-0 Ec.otEo-n)]

=[2(4.410 + 611 + 732) + 498] — [2(3.410 + 611 + 732 + 350 + 460)]= -302kJ
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Ciu 5 (1,0 diém)

-7, 180-120
= 5 18.6
Sy B = ——Oy =299
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Ciu 6 (1,5 diém)

Cups = 1 0.01+0,015

=0,125M
V 0,2

0,5d

x? + Kax Ka.Ca=0

x>+ 178105 — 1,78.10°.0,125 =0 = x = 1,48.10°3 (nhdn) ; x =-1,499.107 (loai)

pH = - logx = - log (1,482.10%) = 2.829
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